729

O& 29 F w2 A2

rlo

® a*xa*=a® @ (a®)3 x (b*)? = ab*
® (@2 xax ()’ =" @ (aV)?x (b°)? x b = aSbT

1
® 2(a?)® x a* x §b3 =allp3



27]
2 3
@ 6a* + 3ab = %
2 1 4x
O Zxty+-—x?2=—
3 6 y

© (2x?)% + (-2x3)? = 8x*
2
@ (-2x%y)3 + (—%xy) = 18x*

® (-2%)° + (40 =~

D 170 @ 27 3 37§

@ 47§

©)

(o2




2
gy & @b €l R

B 6 @ 8 G 10



-2)+

(x 3)(x +5) o AAHAANA x o] Alg=?

@ 5

® 15



5. (x-4)(x-2)(x+1)(x+3)-25=Ax* + B3+ Cx* + Dx+ EY
™, A+ B+ C+ D+ E°| g2 75tH?

D -2 ® -1 ® 0 @ 1 B 2



6. H[FHA Bx-y): (2x—-4y) =2:3 =y o ¥t Eojzf

>R
=%



7.

o] gto] e2?

D 60 @ 62 3 65 @ 68 B 70



450

sholat,

?.

O
=

a7t 5 AL A4S W, a + b o 3



9. x— 15—3 o o, 106x — x 9] gHS Fatelat

5 ER
=%



ol
>

>

(v =

o

x3X -] el
= = i
- ¢
7} = A4 «

1o

jinsl)
ol



11.

3x2

2x2

@
©)
®

4
21x% - 9x + 11

4
4

oL om A ok @ g TRae HANY
2EETE Do) gty vheA AR B FoHE?
LA (EE @ MZd+2
9 4
102 ~9x 41 © 10221 +9



a+ 3ab+b

a—ab+b

o gre?



